10°

E

102

10

ht vs ch b [ht vs chy [ht vs ch'l | — 1 [t vs ch
- D 3 {E w0k @_I 3 Z

10F

5 | 9 | == 110 = EER

10° £

10F
F 10F

10

|12 ht vs- sl |13 mlo\:s_ch i |14 hio\:s-_ch i [E

10

10F 10F

10E




. 116

10

10° F

10k

ht vs chh

102 =

10

1E
- g ¢ | ; M
IO 1 oS00 350 400

ht vs ch b —

3
10

10F

ht vs- chi |18

[ht vs chy :
103 E 21

10

| |
S0 100 15 300

10°

10F

ht vs chh

10
I
S ;
[ht vs ch'l [t vs ch
102 22 23
10:—
10
1
1:
E 1 1 1
LSO L i o0 L-l!

25

ht vs chh

50 300 5 400

ht vs- chh |26

ht vs- chh |29

10°E

10°

10f

ht vs chh

ht vs_ch h | 30

102 F

10F

ht vs chh

]

102 |-

10

C—

50

s
100

150

L



0 |32

ht vs chi
102 |34

10F

[ht vs ch =

S —

ht vs chh

ht vs chh

10%

3

10 F

102 |

10F

ht vs chh

ht vs chh

10°L

10%L

10F

10°

10% |

10E




10*F

107
10%

10F

ht vs- chi |50

[ht vs chy

10

ht vs chh

ht vs chh

ht vs chh
.F

10k

10%E

ht vs chh |58

3
10

[t vs ch

10E

10F

ht vs- chh |62

3

10 F

10°F

10E




|64 ht vs chh

ht vs chi

10’k

102 E

10E

=g

3
10 E

10E

ht vs chh

[t vs ch

10° E

10 F

10f

ht vs chh

10°

10°

10k

ht vs chh

10* |

10°
102 f

10F

ht vs chh
10" E
107

10F

ht vs chh
10"
10%E

10

e —m




10

|80 ht st Chh |81 ht VSE chh |82

[ht vs ch'l | —= 1 [t vs ch
86 87

10

|88 ht st chh |89 ht st chh

10F

ht v: chh |93 ht vsE chl |94 hio\:: chl E

107
10°

10F




3
10"

ht vs ch b —

3
10”

10% |

ht vs chi

3
10 F

10f

102 [

10

[ht vs ch'l

102

103

[108 | =

107

10°k

10k

1105 |

ht vs chh

10°

102 |

107

10F

3

1109 |

ht vs chh

10°

111

10




ht v: chh 115

10"

10F

[t vs ch

104 F

[ht vs ch k —= 1 [ht vs chy
FE - 117

10F 10° 10 F

107 10%E 10°

10 10f 10

T

ht vs ch ht vs ch
o 1122 | —
103 E . 3 :
E 10"

, [
10 107

10F 10F

ht vs chh

10° F

e 127

10 F

10°F

10




[128 —— [129 | = [130 | L—"

[ .F
10°E 10

10F

ht vs ch b [ht vs chy [ht vs ch'l

132 5 133 134

10* E
10°

10

10

ht vs chh

10° 3 oL
10? 102
i) !
; 1
E - 0
|14O ht vs: sl |141 ht vs: sl ht vs: chh 143

10°
E 103 E_

102 E

10E

10k




|
10°F 144

107k

10E

htvschh

3
10"

10° £

10f

I [145 I Lh._h|.

10k

10°F

10F

|ht VS chh

w0’ 1152 I m.t_hh

ht vs ch

147

3
10

10%

10F

1156 I L___i

151

ht vs ch
107
10% |

10E

157 I

3
10

10°F

10F

ht vs ch

104 F

10°
102 F

10F

L-’_h 158 I

10 F
10° F

10F

ht vs ch

10° E

10F




4

10°

10%E

10F

[160 | m‘?ﬁ*

10°F
10k
102k

10

3

10 F

[161 | =

3
10

10% E

10F

62| == 163

(164 I @ﬁ?ﬁ*

[165 I “”2““

ht vs_ch
_ 1168 | .
L F
TE 10’
10? 3
10;
1E
ht vs ch
o 1172 | r—
10° :—

3
10

(166 l 'mim“

10" F
102

10F

102k

10k

ht vs chh

10F

3

3
10

(170 | ﬁ‘?ﬂ*

10°

10k

[173 | =

107 F

3
10

(174 | e

10k




3
10°

10f

L—" [178 |

10F

ht vs chh

10° E

ht vs chh

10’

10f

102 |

10F

[t vs ch

10°

10% |

10k

3
10° k

10

ht vs chh

ht vs chh

10°E

102 E

10f

179

187

191




ht vs chL

[192 | L—"

ht vs chi

3
10"

10f

195

10°F

10"

| |
o0 100 150

[ht vs ch'l
3

10
10% |
10
1F

E

Y

10F

E s !
50 100 150

4

ht vs chh

3
10"
102 —
10
1
E il L L 1
B0 100 150 200 25 50 400
[t vs ch

199

10° F

10

50

107 F

10 F

s s
50 100 150

S

ht vs chh

4

ht vs- chh 203

s s s
50 100 150 200 2! 0

107 F

10 F

107

10




208 | e [209 |

10°E

10

L L L
50 100 150 200 25 5 400

ht vs ch b [ht vs chy
212 -

10°

107

10

3
10 F
10%
105—

1

E. L L L L

50 100 150 200 25 50 400
[ht vs ch'l

214

3 [ 10° E
10 3
i 2

10% |
10% OE
10E 10
1 1E

E | | L E | L |

20 100 150 200 0 B0 100 180 200 0

[t vs ch

216 | o=
10E 10;
|
220 | e (221 |
43
e

L—" 218 | =

L—-‘ 222 |

10
102

10E

ht vs chh

3
10° E

10% E

10E

211

215

219

223




10°F

102 F

10

228

3
10" E

10°

232 | L—"

3

10

226 | L—"

10’

102 |

10F

10°

10k

[236 | L—-“

3

107

1233 |

ht vs chh

3
10

102 £

10F

10

102 E

10F

1234 |

ht vs chh

3
10

10% |

10k

237 | L—-‘

3

1238 |

ht vs chh

227

231

235

239




244

10

10

10°

10

10

o

[ht vs ch'l

S

3
10

250 | L—"

3
10 F

247

251

255




ht st chh 259

|256 ht vsE chh |257 I ht vs- chi

10 F

10
10E

ht vs ch b —=

3
10

[ht vs ch'l | = [t vs ch
= 262 | =
10° k E

102 E
102k E

10

10 10F

|264 ht vs chh htlo\als:_chh |266 I ht vs: chh 267

10°
102 |

10° F

10F 10F

ht vs chh

3
10 F

271

102 E

10k




3

10°F

10F

10

3

10 F

273 | et

277

280 | L—"

[ht vs ch'l

275

10

102

10

10° =

10

s s s Il
100 150 200 gO 300

50

1281 |

ht vs chh

10°

279

284 | —

107 £

10F

1285 |

ht vs chh

10°

102

10

1282 |

ht vs chh

3
10

10F

1286 |

ht vs chh

287




288 | ] 289 | L—" 290 | L—"

10"

102 |

10E
10E 3

[ht vs chy [ht vs ch'l [t vs ch

293 294

3
10°E 0°F

10% £
10% E

10F
10F E

ht vs ch ht vs ch ht vs ch
o6 | == o7 ] = 208} == 299
10 I E 102 -—
10
. o Teb==st MMD 1ttt Teb==th ===t :

300 | e 301 | = 302 | =

102 E

10

1= |
1 [
L L L L L L L L L i L
50 1 150 200 gO 300 0 50 I 150 200 300

10

S



1305 |

ht vs chi

1306 |

10°

10F

ht vs ch b |308 = I [ht vs chy
10
o 10
I ‘l
o Tef=—sst =100 = Tel=—nt La i HE-LL
| 312 I hivs chi
10:—
3 10}
43
E ng | JLJlL
gyl 0 5 L . e 0

ht vs chh

10 E

10k

[ht vs ch'l

1313 |

316 | —

[t vs ch

311

3
10 F

10% |

10F

ht vs chh
3

10
10° F

10

1317 |

ht vs chh

3
10

10E

= 318 |

10°

ht vs chh

10’k

10° E

10E




